Bihar State Power (Holding) Company Limited

f9erR T2 utay @feee) sus fafaee

Test Time  [9:00 AM - 10:30 AM
Subject Correspondence Clerk and Store Assistant

Section : General Knowledge

0.1 fHferfEa & I fea RNE A 2024 F weraTad e 32T  Afgensi & Moy 3R A=
3cdisd 4R Yb19r 3Tdl, 3R Brdee 4R 3dig & AP qe b 3R &A1 b ifa fear?

Ans x 1. =JrgHfd gy afifd & Raré
x 2. ATl &0, Hipwr BT HeaRerdr R
x 3. =JrgHfcl aut Aqfmfd b R
o 4. =ravfd g afafa & Rard

0.2 fHfafEd ¥ q o141 A e & dadf 7 3 IRIg T AP 2A1?
Ans 1. JABRA fgdi

x 2. e fgdia

X 3. Gl A yom

x 4. Pifcadq fgdra

0.3 FHfaf&d ¥ I &19-3df gea1 a4 ugd gfed gs ofi?
Ans  x 1.9&cT 31PA-HRT01 IG5

X 2. SRR BT g

3. @I &1 Ig

X 4. qT9d &7 IR g

0.4 AR AfqenT & fpa Weler gRT 3efAdT H 'JHISIAI (Socialist)' A SNST I7AT?
Ans 1. 4240 Jene

X 2. 4497 TeneH

x 3. 8647 Teneq

x 4. 25d7 Jemed
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Q.5 Pdgeld Vas Fferf&d ¥ @ A 31 &1 gl Jelrd 41?2
Ans x 1. 98HgG Tt

x 2. AGETd geddfmer

« 3. &S M3

x 4. TATYGeld dcfad

0.6 WIfed, fag, Foll 3R AP AdT F IPTAT S YR W, APIFA gRT
AJAT ¥ 7-1-1d (nominate) f&AT FATAT 81

_ AcH Bl

Ans x 1.8
x 2.15
x3.10

v 4.12

0.7 & &Yl I Al-HaTferd SMes-AfET ATM &1 3T fHAT §, St IYAPTHAI3N &1 AT
g, 991, fafma &34, 92 R &7, f3fErersst $37 3R gdievo 333 § 9gH ara A1
& e | dgelld HM?

Ans x 1.9%¢ B84 (Muthoot Finance)
2. Mesa®T (Goldsikka)
x 3. HDFC es (HDFC Gold)
x 4. 2121 78 (Tata Gold)

0.8 3ibug vl WY&l Raid (Ankasamudra Bird Conservation Reserve) NIRd & &6 34
¥ fyd &2

Ans x 1. 9T TG
x 2. 03T
x 3. SIEL]

@ 4. PACD

0.9 P Afh 37y =R A FAPd drel IR B AT 30 shichl T BbdY 3¢ Ugfid B3 el 8l
29 Jeof &, Pgfarfad ¥ A fy Hifers dda &1 Ioaigd & IaT 872

Ans  x 1. Q30 Pl TG ORI BT HEd THSHT 3R 3BT IR0 Bl

X 2. HETF 3Gl &l Fidh? 3G 31 39T et Bl

x 3. AftBITd 3R ATHfed fafafd & woft 31 § Ipwdr & v g1 &l

v 4. BT GATaRUT BT 38T R JER BN
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0.10 vemant T Ot 7 12 o1 2024 @1 @AW & fAgferfad & J fey gfaT ra &1 g1
6 3R 9gi gar-3r<1 $1?

Ans x 1.9 JHIV (Batu Caves)
x 2. 681 "f&R (Kandy Temple)
« 3. 7T dTeTd (Ganga Talao)

x 4. 9Ufary Afe? (Pashupatinath Temple)

Q.11 2011 &I SPIVAT § AR I YHSidl S-UEA S IR 9q9 A0 7 faurfsra fean s
=1 4 v gofi Fgfafad ¥ @ oia-3dt &2

Ans x 1. 9ard oifie

x 2. SRISPIR IR

¢ 3. PP
x 4. 32 ¥ & B3 arel Afh

Q.12 I ARd H, AI-RYA § SPTac IARR HIARLA Td AT ITCZ & A1 fHAPl S & BRI gIdl
e?

Ans x 1. TG BT g1
x 2. dI9q9 § §¢efld
v 3. ISR Jui-&131 I
X 4. 3TAfare e 8§ aig

Q.13 wIse gaT URd ¥ Fufaf@d ¥ 3 f5y Bud uyg & e 3ugw &2
Ans  x 1. 9dc 3R g
x 2. 341 3R aret
x 3. I 3R AT
v 4. 919 3R B3
0.14 Jryfe Hared Mfdg AArs A Faferf@d ¥ F f69 a4 I wA1y=1 § ggaquf yffier g
off?
Ans  x 1.3 IS
X 2. STgl IS
X 3. HigHsT fele R AATE
o 4. G ATdsTAe T



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

0.15 fferf@a & A 5 e A dfe 3RS 3R SRAFA  qgayul sierary 30R dtay Jddeh
il & A 3R ATSTHIV B gl & folv Se3-3MNe 3qauiic d& (Inter-American
Development Bank) & AT ATSIGIA HI?

Ans x 1. f3Y TRey Imeq
X 2. Wgth MY TRIET0T 3R 3 T
x 3. 3%y db

@ 4. Th Y (BRI BIihH

0.16 AR JAfaen= &t 7df g & -1 317HBS &2
Ans x 1. 36T 244
x 2. AIBG 289
X 3. 37<8q 259
v 4. 3T 246
0.17 KNI Well BT 3741 YIBIVT bail AIfrd BT 7131?
Ans x 1.7[sRTd
x 2. TSRAT
» 3.7Tar
x 4. 78 fqocht
Q.18 HageR 2024 H, U dIRA & SR FAff@d 7 F {6 Yerd R A & AafAfifd 8d
&frad @ 318, SR ¥l HATed 3R TR WRBR WR JdId 367
Ans  x 1. 79TYR YcTd K
« 2. JAIPRT Yetd e
X 3. I eld QT
X 4. §oIg YcTd A
Q.19 MIRd 61 2011 B FPIVAT & HTAR, A HH STTHBAT g1cd dlcll bg ATRT A
fgfafaa § d S-a1 2
Ans x 1.cgid
x 2. &E30 3R TR gaelt
x 3. a0 3R g

v 4. 3EH 3R AplaR
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0.20 Gl &1 3yl afdt Rrgn yard &7 3R S MR, sgr awifer, s arfsrl
3R giRc Hrafadl &1 emfaor sifafafery &1 yfa®R $34 & ferv sgaar 7 'Rig g
G (Singh Sabha Movement)' &1 19T &9 61 1S 4i?

Ans »1.1873
x 2.1851
x 3.1865

x 4.1929

Section : Logical Reasoning

0.21 IfE ‘+’ 3R~ B RWR 9 fGAT ST d&T “x* 3R =* B YRR Jgd feAqT T, dl
frgferfad afieor § yy-fRag (?) & &A1 9 &7 302

30+10+40x5-3=?
Ans »1.295
x 2.395
X 3.205
X 4.305
Q.22 Us; 'ABANDONABLE' # U ¥R ®I 335l quinren 4 § 39d d1q 34 did gar 38R A
95 f&A1 SiaT @ 3R UA® 1= B 3iAsf qufaren &1 & 39F dgd 30 ared i 37eR @

g fear srar @1 FuferfEd ¥ d $19-31 38R 39 YR 91 31eR-IYg § 1% af 9
3TTIM?

Ans x1.C

v2.K

x 3.1

x4.Q
0.23 70 faenfdAT 1 ve war § FArur i I ofif I 2471 81 a1l D A deror H1 ¥ -7 872
Ans  x 1. 42

v 2 47

x3. 45

x4 46
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0.24 & 718 @l § Y- (?) & AT YR 1 3711 A1fg0?

143 128 ? 98 83 68
Ans »1.113

x 2. 11

x 3.119

x 4.117

025 MBI FIATV &I M BT HIS N &I N BT TS O &1 0 I ATdT L g1 V BT L & T Jae g2

Ans ;<'1.‘14T§
¢ 2.9fd
x 3. 9fd &1 918
x 4.dg4

Q.26 FHfef&d IR a<-goi § A di9 ve FAfYd e I a1 & 30 0 PR UP AYg §-1d &
SI-TT I<-IPA 39 g F Hedd e &2
(Ate: a<l & Arefas fEdY or=al & ®Y F 771 AT A0 31R 32 A< H 378R} / A3l / W)
61 WA & YR IR AYgIPd el A1 ST1 A1fgv)

Ans x 1. 9f3I-8F (Wolf-Pack)
v 2. fSectl-g8 (Cat-Herd)
x 3. H8ell-3pd (Fish-School)
x 4. ¥g-Uiid (Sheep-Flock)
0.27 319 g4l 3t 7 qAfd ¥ FFAR Xy G I4@1 A1dT & df <l 18 3fd & Al gdor yfafda &1
9I9 BI|
X

Lot38us

Y
Ans sl 2u8€tol
x2.lLog3agne
x3rofagne

x4 zp8E€tol
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0.28 FHfef&d faeeyl d QY o<l & WA ow fQT 31, S U FAf3d dd & HAR, Ub-gay A
Jefed &1 IR o Al 7 A i v Ju1 & ife 376 T I db BT Urer g3 & 3R
S YR 9 U G 91 &1 BI-T a5 I 39 I1g A A«fdd 18 &2
Ans X1 stale: Fresh
X 2. Harsh: Gentle
¥ 3. Meet: Contact

K 4. Advance: Retreat

0.29 fufarf@d 31gR g@e &1 daH o 3R 2 f{e 10 9y &1 30R &1 Bt aa 910 I qIe 6
STt =rfgul

(SIU) CXUWJOJFTUNREMPLFWHY M (GI0)

¥ fpda o[ € 5AH I Ud® & Sie dgd Ue R 3R 81 915 § v A &2
Ans x1.dl9
X 2.9
¢ 3. TR
x 4.3
0.30 U fAf3d i A, DM 27 &7 J§e Bl 22 I &1 33 UBR, U) 13 &1 &< SF 8 A &1 U4
dd @1 AV $3d §U, GL 37 Bl Ade Fafafad 7 3 fead €2
Ans x1.F 31
v 2.EH32
x 3. FH 31
X 4.El 31

0.31 Ifg ‘+' 3R '—* B W Fqdl AT AT dAT 'x' 3R '+ B IR dG AT AT,
faferRad afieor § yy-fag (?) & =& 93 &7 302

26x2-9+4+5=7
Ans 1.2
x 2.0

x 3.21

x4.22
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0.32 & 7S 31eR g@en &1 e o 3R A ugr &1 3R | B Faa 910 J 10 $i it &
(SIV) DBAEXIGAUSPOTRJQABSVW (GIV)

¥ P IR ¢ 51 b ygal U A ¢ 3R P a1 ¥ off vsp s 872
Ans x 1.dR

x2.U%

x 3.3

g4

0.33 Bg sl A, B, C, D, E 3R F U & HUI UP I U g, cifbd SIu3] Tl fop d sl o0 o 39
T &N C BT T F 9t AT 9= 3@ 3T &1 C 3R E & 9 $ad U dfad W1 337 81 D
Bl F & e I 391 51 ¢1 F A i Q1 w1 D B 3461 /- g1 SI-1 died, fid & @R
[T YR I@T AT &2

Ans x1.B

¢2.D
x3.A
x4.E

0.34 5 U fAfyd adb & TAR 39 F Wefdd g1 M dF & IR 16, 116 T Aafda 21 3 a6
& IR, 23 FEfafad ¥ 3 fead ddfaa &2
(A1 J@AT30 DI 37d gcP 3idl # dis a1, WfpATe guf J@arsi v &1 -t =ifge|

3QTERT $ felv 13 Bl ofifSre- 13 g AfeATe S 6 13 A SigA1/9erH1/3on &A1 30fE
T 1T gBdT &1 13 B 1 31R 3 § disAr 3R B 1 3R 3 uR IfOrda Afpane &7 &1

srgufa = 1)

Ans 1165
x 2.161
x 3.164

x 4.163



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

0.35 &1 1 Y@l BT daH AifSe 30R 39S 915 XU 10 9y &1 30 ISl Pradt dad a1v 3
&T0 &Y St arfev) (It =10 Fad U 3id arell =AU §)
(99)1787584719311682289181816 2 2 (aI0)
ot fopa-t a9 =t €, o @ Ud® & SId Uga Ue fauy J& & 3R &ie a1g § v
Y IS 872

Ans x 1.dR
x 2.3
x 3.Uh

4.

0.36 A w3 & q A=A G v &1 T=N3N F ydS g |, Ugell WWA W FG IO
SfpATT BYP Ul WA I &l &1 S e, T S R B MU AfpATd b
Y T urd ardt € 3R ¥t avE 3 oft it &1 e vTe faw et § & -1 fawey
f&u sTU AR & [T WA BT 3RO ST &2
(1e: F@AT3H B 37 geP bl 7 dis foA1, Jfpard guf @3 uv &1 s 9rfgel
3GTERY & felU 13 - 13 U= JAfBATV, A 6 13 H 33T / "I / I[On SIAT 30, B 3
AHdl €113 &I 1 3R 3 7 A3 3R 63 1 3R 3 R IIfordia AReArd &1 1 safa I8
gl)

8-64-94-188; 9-81-111-222
Ans x1.7-49-69-138
v 2. 6-36-66-132
x 3.10-100-120-240

x 4.5-25-55-120

0.37 & 718 @l § YY-Rg (?) & AT IR T 311 91fge?

15/31,19/39, 23/47, ? , 31/63, 35/71
Ans x1.27/54
v 2.27/55
x 3.29/58

x 4.29/59
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Ans

Ans

Ans

=&

7

VAR : RXP
KBE : GYC

x 1. YMR : ULN
x 2. XLO : WMO
x 3. XMP : WNO

@ 4.ZOP : VLN

DF - AC - XZ
RT - 0Q - LN

x 1.HJ - CF - AC
v 2. Gl - DF - AC
x 3.Gl - DF = CE

x 4.H) - CE - DF

177D3A2B4C1=7?

Q.38 39 U Bl I HIfSY 5 A4 Qe 7€ &) FouT & AT G-t BT AZIAI B3l &1 a1l A
I G BT 3R FI4 &l

0.39 3 A=Y &1 994 HIfore 1 A e 10 ) ag=Al & a1 e &1 /R ST 2|
QA W= A1 G &1 IRRY 4 &

0.40 Ifg ‘A’ &1 3+ &, ‘B” b1 31—’ &, ‘C’ 1 37 =’ & 3R ‘D’ &1 31 <’ &, A FyfafEd
Ifieor § yy-fag (?) & XA 9 &7 300?

x 1. 47

v 2. 49

X 3.5

x 4. 45

Section : General English and Comprehension

GET IT ON
Google Play
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Q.41 Select the most appropriate option to fill in the blank.
They __ their homework last night.

Ans x 1.doing
x 2.do
x 3. does

v 4. did

Q.42 Select the most appropriate ANTONYM of the given word.

Precious
Ans x 1. Costly
« 2. Worthless
x 3. Valuable
x 4. Treasured

Q.43 Select the option that can be used as a one-word substitute for the given group

of words.

A person who studies the weather
Ans x 1. Chemist
« 2. Meteorologist
x 3. Psychologist

x 4. Physicist

Q.44 |dentify the idiom that fits the given situation.

Mr. Kanth had to pay an exorbitant amount for the vintage car that he bought for

his eldest son.
Ans x 1.To scrape the barrel
« 2. To pay through the nose
x 3. To burn your boats

x 4. To hit the sack
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Ans

=&

7

You can’t enter the lab

x 1.and

x 2. though

x 3.0r

« 4. unless

Q.45 Select the most appropriate option to fill in the blank.

you are wearing proper safety gear.

GET IT ON
Google Play
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Comprehension:

Read the given passage and answer the questions that follow.

Human activities have become the leading cause of biodiversity loss across the
globe. Rapid urbanisation, deforestation, industrial expansion and pollution have
significantly altered natural habitats. Overexploitation of biological resources and
introduction of invasive species further intensify the pressure on native
ecosystems. These causes, driven largely by economic development and
population growth, disrupt the delicate balance of nature.

The effects of biodiversity loss are widespread and deeply concerning.
Ecosystem services such as pollination, water purification and climate regulation
become compromised. The extinction of species affects food chains, leading to
unpredictable ecological consequences. For example, the loss of pollinators
threatens agricultural productivity and food security for millions of people.

Furthermore, biodiversity loss contributes to environmental instability. It weakens
the resilience of ecosystems, making them more vulnerable to natural disasters
and climate change. As habitats shrink and species disappear, the planet
becomes less capable of supporting life in all its forms, including human life.

SubQuestion No : 46
Q.46 What is the main idea of the passage?

Ans 1. The main idea of the passage is to explain the importance of biodiversity
conservation, highlight the causes of biodiversity loss and discuss its effects on

ecosystems and human well-being.

% 2. The main idea of the passage is to describe the causes of biodiversity conservation,

explain its importance and discuss its effects on agricultural productivity.

x 3. The main idea of the passage is to explain the role of biodiversity in human

development, discuss its types and explore methods of conservation.

x 4. The main idea of the passage is to explain the methods of biodiversity conservation,
highlight the types of biodiversity and discuss its effects on ecosystems and human well-

being.
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Comprehension:

Read the given passage and answer the questions that follow.

Human activities have become the leading cause of biodiversity loss across the
globe. Rapid urbanisation, deforestation, industrial expansion and pollution have
significantly altered natural habitats. Overexploitation of biological resources and
introduction of invasive species further intensify the pressure on native
ecosystems. These causes, driven largely by economic development and
population growth, disrupt the delicate balance of nature.

The effects of biodiversity loss are widespread and deeply concerning.
Ecosystem services such as pollination, water purification and climate regulation
become compromised. The extinction of species affects food chains, leading to
unpredictable ecological consequences. For example, the loss of pollinators
threatens agricultural productivity and food security for millions of people.

Furthermore, biodiversity loss contributes to environmental instability. It weakens
the resilience of ecosystems, making them more vulnerable to natural disasters
and climate change. As habitats shrink and species disappear, the planet
becomes less capable of supporting life in all its forms, including human life.

SubQuestion No : 47

Q.47 Select the most appropriate ANTONYM of the given word from the passage.

Protected
Ans x 1. Widespread
« 2. Vulnerable
x 3. Critical

x 4. Severe
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Comprehension:

Read the given passage and answer the questions that follow.

Human activities have become the leading cause of biodiversity loss across the
globe. Rapid urbanisation, deforestation, industrial expansion and pollution have
significantly altered natural habitats. Overexploitation of biological resources and
introduction of invasive species further intensify the pressure on native
ecosystems. These causes, driven largely by economic development and
population growth, disrupt the delicate balance of nature.

The effects of biodiversity loss are widespread and deeply concerning.
Ecosystem services such as pollination, water purification and climate regulation
become compromised. The extinction of species affects food chains, leading to
unpredictable ecological consequences. For example, the loss of pollinators
threatens agricultural productivity and food security for millions of people.

Furthermore, biodiversity loss contributes to environmental instability. It weakens
the resilience of ecosystems, making them more vulnerable to natural disasters
and climate change. As habitats shrink and species disappear, the planet
becomes less capable of supporting life in all its forms, including human life.

SubQuestion No : 48

Q.48 Select the most appropriate ANTONYM of the given word from the passage.

Sturdy
Ans x 1.Significant
x 2. Unsustainable
« 3. Delicate

x 4. Rapid
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Comprehension:

Read the given passage and answer the questions that follow.

Human activities have become the leading cause of biodiversity loss across the
globe. Rapid urbanisation, deforestation, industrial expansion and pollution have
significantly altered natural habitats. Overexploitation of biological resources and
introduction of invasive species further intensify the pressure on native
ecosystems. These causes, driven largely by economic development and
population growth, disrupt the delicate balance of nature.

The effects of biodiversity loss are widespread and deeply concerning.
Ecosystem services such as pollination, water purification and climate regulation
become compromised. The extinction of species affects food chains, leading to
unpredictable ecological consequences. For example, the loss of pollinators
threatens agricultural productivity and food security for millions of people.

Furthermore, biodiversity loss contributes to environmental instability. It weakens
the resilience of ecosystems, making them more vulnerable to natural disasters
and climate change. As habitats shrink and species disappear, the planet
becomes less capable of supporting life in all its forms, including human life.

SubQuestion No : 49
Q.49 Select the most appropriate title for the given passage.
Ans x 1. Biodiversity and Conservation Methods
x 2. Protecting Biodiversity for Future Generations
x 3. Biodiversity and Ecosystem Services

« 4. Biodiversity in Decline: Human-Actions and Their Impact
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Comprehension:

Read the given passage and answer the questions that follow.

Human activities have become the leading cause of biodiversity loss across the
globe. Rapid urbanisation, deforestation, industrial expansion and pollution have
significantly altered natural habitats. Overexploitation of biological resources and
introduction of invasive species further intensify the pressure on native
ecosystems. These causes, driven largely by economic development and
population growth, disrupt the delicate balance of nature.

The effects of biodiversity loss are widespread and deeply concerning.
Ecosystem services such as pollination, water purification and climate regulation
become compromised. The extinction of species affects food chains, leading to
unpredictable ecological consequences. For example, the loss of pollinators
threatens agricultural productivity and food security for millions of people.

Furthermore, biodiversity loss contributes to environmental instability. It weakens
the resilience of ecosystems, making them more vulnerable to natural disasters
and climate change. As habitats shrink and species disappear, the planet
becomes less capable of supporting life in all its forms, including human life.

SubQuestion No : 50
Q.50 Identify the structure of the passage.
Ans x 1.Compare and Contrast
x 2. Descriptive
« 3. Cause and Effect

% 4. Chronological

Section : General Hindi and Comprehension

0.51 ‘399 &I yATgardt oI gM-
Ans x 1.3ddH

v 2. 98

x3.~?\§

x 4. 90d



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

0.52 fferf@d faeedl # A gerar &1 A&t 31 A
‘RIR o1

Ans x1.TRRETE AT
x 2. R ¥ gten g
« 3. foRte ¥ e g

x 4. 917 &1 ST

Ans x 1.3W

0.54 fgferflad faeedl ¥ A=a1 &1 gATIard) o= ygar|
Ans x 1.37144

x2.9¢

3. 3T

x 4.fag

Q.55 fufef@d faeedl # & garaw &1 Idt 31 g1

‘ard &1 & &1 31ef 21

Ans x 1. @PITAR dTd BRI
X 2. 5TeT ST AT
X 3. §gd A &
v 4. 1A BT ah]
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Comprehension:

few o7@ sTerier & e o Agifed gei & IR GfSU--

AR 1T & &Efiadraig & 31e BRI 8, Jef Bt off 3mem o &are & wra-1 fasRid 7 &
2P folu Afaer § gbedl APTRGAT Pl el 6l 775 § | YYH Wil BRI 8, P& I d3 I §
5P BI2-8I Hg@qul & lifaid e A S8 - APd & oY IR H ARdls vd Harg| fgdia
AT Ud ISP FT & AP PR 3% 1T Wra1¢ 317 it 81 Jdra 3 FROT 81 7BWTE,
J[RTd, BAled e [ABRd I3 ¢ SafP f[GeR, Aoy & A9, 3511, 3.9 3N1fE JAdH [T Rid Ig
g1 &7 I F dg 7ade 3R WVIAE &1 drer SRUT § Sfa, TR SR AFIdrae Jer &l
giamon 3R "eRTE X &Fftgdr 1 ygfa e H Sifa &1 Hg@yul 19 I8 81 diEal e AsHIfae
BHRUT I off grarg & a1 g g1 A=A & P AsHIfds HI Ig W [§@ evrdn g & afe
39 & a9 B g I3 BT &3l el STl 37bT A faes g e Jabell &l

SubQuestion No : 56
0.56 1 ¥ @ "fAREar &1 faedn o< 8-

Ans x 1. fafaerar
o 2. JETAT
x 3. gy

x 4. Tadl
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Adda247

Comprehension:

few o7@ sTerier & e o Agifed gei & IR GfSU--

AR 1T § &ElIdTag & 31e BRI 8, Jef Bt off 3mem o &arg & ura-1 fasRd 7 &
2P folu Afaer § gbedl APTRGAT Pl el 6l 775 § | YYH Wil BRI 8, P& I d3 I §
5P BI2-8I Hg@qul &3 Nifaid e A S8 o4 APd & oI IR N ARdls Ud Harg| fgdia
MY Ud ISP FT & GRIP PR 376 1T W18 517 il 81 Jdrd 3 FROT 81 7EWTE,
J[RTd, BAled e [ABRd I3 ¢ SafP f[GeR, Aoy & A9, 3511, 3.9 3N1fE JAdH [T Rid Ig
g1 &7 AT B d AANG 3RAT WIS &1 e BROT § S, S R Afiadrarg e &l
giaon 3R HeRTE X &Efrgdr &1 ygfa e H Sifa &1 Hg@yul 19 I8 81 diEal 3% AsHifae
BHRUT I off garg I a1 gu g1 A=A & P AsHIfdsn dI Jg W f§@ opvrdn g 6 afe
39 & a9 B g I3 BT &3l el STl 37bT A faes g e Jabell &l

SubQuestion No : 57
0.57 WRd & &-fadrarg &1 R ¢l &--
Ans x 1. 9Pnfa®
X 2. T U I¥pfd
x 3. 3w
v 4. el
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Adda247

Comprehension:

few o7@ sTerier & e o Agifed gei & IR GfSU--

AR 1T & &Efiadraig & 31e BRI 8, Jef Bt off 3mem o &are & wra-1 fasRid 7 &
2P folu Afaer § gbedl APTRGAT Pl el 6l 775 § | YYH Wil BRI 8, P& I d3 I §
5P BI2-8I Hg@qul &3 Nifaid e A S8 o4 APd & oI IR N ARdls Ud Harg| fgdia
AT Ud ISP FT & AP PR 3% 1T Wra1¢ 317 it 81 Jdra 3 FROT 81 7BWTE,
J[RTd, BAled e [ABRd I3 ¢ SafP f[GeR, Aoy & A9, 3511, 3.9 3N1fE JAdH [T Rid Ig
g1 &7 I F dg 7ade 3R WVIAE &1 drer SRUT § Sfa, TR SR AFIdrae Jer &l
giaon 3R HeRTE X &Efrgdr &1 ygfa e H Sifa &1 Hg@yul 19 I8 81 diEal 3% AsHifae
BHRUT I off grarg & a1 g g1 A=A & P AsHIfds HI Ig W [§@ evrdn g & afe
39 & a9 B g I3 BT &3l el STl 37bT A faes g e Jabell &l

SubQuestion No : 58
Q.58 WA Wfaerd g1 &=ftadrdig & Ab- & felv AqAT 61 7S 8-
Ans 1. SHEN APTRGBAT B

x 2. AR TPl Pl

x 3. QI8 APTRSGdT &

x 4. 376 e &
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Adda247

Comprehension:

few o7@ sTerier & e o Agifed gei & IR GfSU--

AR 1T § &EiIdrag & 31e BRI 8, Jef Bt off 3mem o &arg & ura-1 fasRd 7 &
2 folu Afaer § sl APTRGAT Pl el 61 775 § | YYH Wil BRI 8, P& 0 d8 I §
5P BI2-8I Hg@qul &3 Nifaid e A S8 o4 APd & oI IR N ARdls Ud Harg| fgdia
AT Ud NP FT & AP PR 3% 1T WIa1¢ 317 aiedt 81 Jdra 3 FROT 81 7BWTE,
J[RTd, BAled e [ABRd I3 ¢ SafP f[9eR, aiar & A9, 351, 3.9 e JAdH [FeRid Ig
g1 &7 AT B d AANG 3RAT WIS &1 e BROT § S, S R Afiadrarg e &l
giamon 3R HeRTE X &Eftgdr 1 ygfa e  Sifa &1 Hg@qul w19 I8 81 diEal 3% AsHifae
BHRUT I off gFarg & a1 g g1 A=A & P AsHIfdsn B Ig e §@ ovrdn g 6 afe
39 & A9 B g I3 BT &3l el ST dl 37bT A faes g e Fabell &l

SubQuestion No : 59
0.59 A ¥ A 'vHar &I faan I< &-
Ans x 1.37™@gdl
@ 2. 3B
x 3. JHEId

x 4. 3enfa
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Adda247

Comprehension:

few 7@ sTerien & e o Agifed gei & IR fSU--

AR 1T § &EiIdrag & 31e BRI 8, Jef Bt off 3mem o &arg & ura-1 fasRd 7 &
2 folu Afaer § sl APTRGAT Pl el 61 775 § | YYH Wil BRI 8, P& 0 d8 I §
5P BI2-8I Hg@qul &3 Nifaid e A S8 o4 APd & oI IR N ARdls Ud Harg| fgdia
A9 U4 IBld BT & S BRI 3 SA1F WG 54 odl &1 Jard e BRuT g1 7ERIE,
S[SRTd, BeH HIfE [AbRId AT & STafd foaR, gair & I5Y, 38141, 3.9 3111S JAdH f[asRd I5g
&1 39 I & AT Aq¥e 3R WUfIF g1 el HRUT & ifa, Sae SR §fadrare 96 gl
g 3R 7eRTE & &Fdr &I ugfa e § Sfd &1 Hegw@qul T @l &1 U=l 3 Js-ifdd
RN A Y &rarg B 91 gl g1 I&EfAd &5 & AAfas bl Ig wref fergy oprar g b afe
33 8 A9 Pl 42U 1T BT &l A ST al 37! A-1Ib 9 e T gl

SubQuestion No : 60
Q.60 AR & &6 AN 7 3A1fd & &R 4R FHAAdTdIE 7 dId gs 8-

Ans x 1.3[SRTd Ud ®icd

x 2.39 Uq fagr
x 3. AR I
@ 4. BRI 3R 7ERTY

0.61 3d¢ 0S (Ubuntu 0S) & RIRed AfEN F grdqR ARMA P 3idsfa 7133 3R c9ds 431 A
0139 & 910 3R 10 929 & BalF &I d¢a & felv fpd faseq o1 3uANT AT S1dr 82

Ans x 1. H13Y %R (Mouse colour)
x 2. 4fgex Hig (Pointer speed)
& 3 PIEE TG (Primary button)

x 4. 89d-facied (Double-click)
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Q.62 sTAvTE dffthe ZiABR (DBT) & folU 3MMeMR &l d& |idi A 3153 &I WANE 359T T &7
Ans 1. 98 JAYA BT b AT 3R a1 W& 3R qerargde dfard anafy de ugd

x 2. ARSI & gXATARUT T J&H §ATT

x 3. 3T LM & AU Worary i gfaer garv B3

x 4. BT 3TaGAl & felv hfee WPIR g HIAT

0.63 fofafEd & & i3-dt {ifT s[uraar, fiex Mufést & siasfa disad ardt 82
Ans x 1.3 (Text)
X 2.5 (Lines)
x 3. I3 (Standard)
» 4. ST (Box)
0.64 UHUY Yidr4ise Q31 &l el fOra A A A9 $373 & fere, fAgfarf@a 4 I fey faeey
BT 39T fopaT SATaT &2
Ans x 1. File > Close
x 2. File > Save
x 3. File > Print
» 4. File > Save As
0.65 FgfeIfad ¥ d ®19-91 fd® e, saaei-e A A1 &I Yfdr ¥ SMTP Nidid & B &I
Jaran qufa &ar &2
Ans x 1.SMTP IdR UR $7cl TR Bl &, 319 db b 3¢ UTdddl gIRT IAUTd el b ST &l

X 2. SMTP 99 3R UTcddhdl & sire YR AR JAAd B b folv SHet HI Us-Z-U8 Ufpe
Bl 8l

X 3. SMTP UTkiobell Pl Al b S13cls PV faHT 3197 a9 S135R X Yg- &l Jfaer a1 gl

v 4. SMTP UN® & SH deflee I U] & sHel JoR dd sHd P TR 0T &l Tgxd- &l gl

Q.66 WIEHIA P P& 3@ F ferv gn Fufearf@d ¥ @ I-a1 adsHEl 379-1a &2
Ans x 1. 90T UTAAS BT 39APT BRAT

« 2. JFT Wi-Fi T 39177 BT
X 3. Bl 3P B3 P fold T BT 3TAPT HIAT
x 4. T4 &1 3UAT BT



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

0.67 USSReHC B3 3R Sigie &l q@ & fore, FAuferf@a & I 69 e &1 39T fa
SITdT &2

Ans x 1.0Open
x 2. Recent
« 3. Print Preview

x 4. New

Q.68 faeIysls &1 3UAT HId YHI AISHIMUIYE ds 8 U a1k § ATHI=Ad: fbdA 3MscH 39 3l
TP d & 3R 3¢ Y BT 31 AHdT &?

Ans x1.30
& 2. 24
x3.26

x4.25
0.69 AfABIA SHel Fellse (email clients) H, AT # F SIH-I1 IR YR &I 9P, feid

A1 #1498 (sender, date, or keywords) 3 HI-¢s AT ¥ 991 Y1 0 4 fpdl
fady $ia &Y dfiraar & e & Agraar a1 &2

Ans x 1.@9d (Labels)
o 2. Id 9% (Search Bar)
x 3. fthee? (Filters)

x 4. BIee? (Folders)

Q.70 MSAE BT HaRM, sipgie H Yl 9417 $I Jfaer g &l 8l
Ans x 1.Spell check

x 2. WordArt

« 3. Numbering and Bullets

x 4. Mail Merge

0.71 ITIHAA (ransomware) T g?
Ans x 1. 32T &1 §&H31Y o &I U diadl

x 2. U UPHR BT USaIRY ATFE R

« 3. U YBR BT HeTdR S 3Tl Pl BIgcll Pl UfPE BT & 3R 3w $ail & faiv
APTATA I APT BT &

x 4. U RI%H 3193¢ gel
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Q.72 UHUH URId H, U Al A X Al # BiHE I fudr & idt &3 & fore fed gel &1
3913 BT ATdT 872

Ans 1. Format Painter
x 2. Data Validation
x 3. Conditional Formatting

x 4. Copy & Paste

Q.73 Which colour line is used to define the contextual errors in an MS Word document?

Ans  x 1. purple
X 2. Green
¢ 3. Blue
x 4. Red
Q.74 MS URId #, Wsfic & Acl A fpHl SR A1 T IfAR Bl R HIT A g A IG HA P
fore frgfafara F @ fed it &1 3uANT fHar s 9rfee?
Ans x 1. Delete
x 2. Backspace
x 3. Enter

« 4. Esc

0.75 fufafEd & & -1, $-Aar3T F fAavur & forw $-SHReTR Yard $1 & fore IaRarf
&?
Ans x 1. 3-H139 (e-Inclusion)
x 2.3-83%] (e-Industry)
« 3. 3-Id4H¢ (e-Government)
x 4. S-afT (e-Learning)
Q.76 MS PowerPoint &, FHff@&d & J ®I-3 XU WWHiH $31 4R 138 Al 7 yd FAeiva aug
& §1g 188 Wk 301 9312
Ans x 1. Design -> Set Timings
x 2. Insert -> Auto Advance
¢ 3. Slide Show -> Use Timings

x 4. View -> Set Timings
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Q.77 UHUY T3 ¥ ‘SiagHe Uiudlsl (Document Properties)’ & &1 FIT 31ef §2
Ans 1. SiRgHC & Ade H BRI, SN diaep, o 3R PHrag

x 2. O fAQvArt 7t SiaRgie & grae B! gk &Rl &

x 3. 0F BIR 37 ST FH BT B F JeTIal B &

x 4. 0 AR 3T Sfagiic BINfe Pl Waferd B &

Q.78 MS Word H Font Size g19-31371 A & idg el fPU 30 HI¢H Bi< AIgS Bl fbuc &3
& fere fFgfaf@d & I $1-91 TRT MILS 8?2

Ans x 1. dif®d A1S1 b Y- dP Increase Font Size S &I 3TANT B3|

2. ifSd B AT83T &I A& Font Size dfaT & 2189 & 31R Enter GaTV|

x 3. MS Word H &3¢H i< gl fbUC el R b |
X 4. SR IR Age-fadd B AR BIRE B A Increase Font Size |
0.79 FHfaf@d ¥ q BI4-A1 SIS JASH, MS ds sibYic ¥ JdRBpE ford@q & v 3N fea
SITdT &2
Ans x1.Ctrl+*
x2.Ctrl + _
¢ 3. Ctrl +=

x 4. Ctrl + -

Q.80 THUY-d3 YIARY WiwadAR ¥ 'Find and Replace’ BIax &I 38T T 8?2
Ans x 1.WfelT TR (spelling error) &1 3iiF &A1
X 2. STRIHE BT BIdl 1T

3. T3l 2reg A1 TERIi<r (word or phrase) @1 Q3N U AT ATERITLT F FfARTfOd B3

X 4. e Bl TE Bl

Q.81 U &l H 15 faenfdAl & 3iel &1 37d 51 &1 AT ydS [enedi & 3ie A & fqe Ay,
dl =11 3iR1d gra bIfsred

Ans x1.30
x2.15
o 3.102

x 4.51
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Q.82 U HIeY BIR 60 km/h & ITdl A T Y& Bl & 3MR & Q1 € a1g 3qH! a1l 15 km/h
d¢1 & SiTdl 81360 km &1 gft T B3 # 3 a1 IHI PPI?

Ans x1.7Hc
& 2. 5 g
x 3.2 8¢

;{4.9ET?.r

0.83 U fadbhdl 50 99 S9BR 60 U b1 dPTd 9l B odl &l IABI a1 Yfaerd sird HIfw|
Ans ,1.20%

x 2.25%

x 3.50%

x4.10%

Q.84 U el fpdll S @l R 7 18 AC BT AW ol &, AP AT Al M1 &P Bl "iell B
T 40 e &1 Y0 odi &1 TG QT T U A1 Wil 0, df & &l WA | fpa-n Iy

(f=1CT 1) oPbom?

Ans x 1. 320
AR

-2, 320
T

3 360
v 11

340

4
i 11

0.85 U Aftb 600 X TP HIdTsd B d99dT &, oI 30 $8 o $i g1 gl &1 3fg 397 3
%1120 ¥ &1 &Xdl, dl 3"BI H 38 Ugel &l arefl &1 BT 4 A1 gdTl HidIscl I &1 $I
1ed (R ) gird SIfSe|

Ans »1.704
x2.724
x 3.684

x 4.734
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0.86 14 fauU 31 3 &I I3l HIfFVI

216\3 343y 2\t

G * &) - 6
Ans 1. 2307
60024

2. 2305

60026

3 2304
v
60025

o 4. 2303

60028

Q.87 U ATIRY A Ael & AHY Y80S BYgl I HIAdl IR 40% $HI g b1 GIvn $I g1 afg feht
ATEP &l 312,800 I @e dIfeT, dl 38 T6,400 &I BIAd drefl fea-t oad @de- arfge?
Ans x 1.dRR
x2.a
WERIE]

x 4.9

Q.88 After three successive equal percentage hikes in salary, a sum of ¥30,000 turned

into ¥36,751.29. Find the percentage rise in salary at each stage.
Ans x1.8%
v 2.7%
x 3.5%
x 4.6%
Q.89 SIfef B aHI HF BT 5 5T, AAA B W 31 F 7 7 F 14 99 AAS &, dA1 AT H

qdu1 3g &1 8 AT, Hifel B g 3y & 5 3 A 11 a¥f 7 1 HIfel 3R A3AA HI
qd I 3G BT AT (9T 7) Si1d Hifsred

Ans x 1.5
x 2. 11
x3.12

¢ 4.10
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0.90 tngqPwmi$$r%mﬂ28ﬁ%ﬁmwm%3ﬂ?tnsqQ3¢ﬁ%‘$$|‘%ﬂm16&%ffm

AEHdl g1 P 3R Q QT &I 2 6 dob Hell I@M 37131, bR QAT & dq B3 f&n S|
39S d1G Hddl 913y R I Jlell I-AT 31 3T EF &I 9Tt 9 & § Wrell H f&ATI 4139 P, Q
3R R fici®R @refl ¢& &) fpda 0T ¥ R IHad &7

Ans x1.39d¢
x 2.27 €¢
 3.28H¢

x 4.34 ¢

0.91 98 31k 99 & TN & oI fpa-t Wed A=AV &2
Ans x1.158

x2.100

x3.99

v 4.196

0.92 QU 3V AP Pl Wellpd il

6= + 5% + 4> + 35
6 5 4 73
1,399

20

Ans

x 2. 389
20

¢33
20

;{4.&
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GET IT ON
Google Play
Q.93 U & 3elt Gl 72 km/hr &1 A1l F a7 ST & 3R A 30eft gA 36 km/hr & =T I
dd &l ¢, dl 39P! 3RTd =1 Sird Hifre

Ans x 1.55km/hr
x 2.44 km/hr
« 3. 48 km/hr

x 4.40 km/hr

0.94 H19 fif30 &b 3T & dd9 BT 60%, af@a%%q%%%m%%wa?%lmmﬂ
3dd 34,800 &, dI IS &I dd4 (F ®) oird HIf30]
Ans x1.%1,720

v 2.31,920
x 3.31,820

x 4.%1,650

Q.95 & 3nfigarR] & o9 gu 14 #, Usfigd Haardrsi & & 90% Hdaardr3il 3 dic srel 3R sra
T IS 7§ & 20% dic 3rder qre 7¢) Sfid diet 3ufiqarR &1 32 A1) § F 75% dic UId guv

3R 394 1071 A & 3iaR A A9 STl Ysfied Adarasi 1 G&41 drd Hifsre|
Ans x1.2974

x 2.2973
v 3.2975

x 4.2977

0.96 fAgferfad &1 019 sitd $HIfare:

35-[25-{31-(22 -11 +9)}]
Ans 121
x 2.20
x3.18

x 4.24

0.97 B¢ a¥ 4ga, K 3R P &1 311 &1 AUId 5 : 6 ATl IR 9 1, 37T 31 BT AJUTd 10 : 11
BT P &Y ad|1 31y (a9l #) 1d $ifsre?

Ans x1.26
x2.16
& 3. 18

x4.22
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Q.98 U® gdIaR U Adl A & 3ifpd Jed ¥ 18% $I e odl &1 IfE Adl A &1 faspd Ied
¥30,176 &, dI Il Ae &1 3ifepd ged sird ifsrw)

Ans x1.¥36,400
x 2.¥36,500
v 3.336,800

x 4.336,600

Q.99 YTd J&AI3M T APTHA 655 &1 gell & JSAT3 T 31Ad 76 & 3R s J=m 115 &1 A9
&l Y13t &T 3d sird HIf3rv|

Ans x 1.191
& 2. 194
x 3.192

x 4.195

Q.100 3l &1 dd- ¥20,00,000 ¥fd a¥f &1l dd Sgler ¥25,00,000 fd a¥ & f&1 =TI
gfaerd gfg grd $ifarel

Ans ,1.25%
x 2.15%
x 3.20%

x4.35%



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

